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= Al 844,300,000 | 100.00% 792,600,000 | 100.00% 51,700,000 6.52%
2 BES| 761,000,000 | 90.13% 710,000,000 | 89.58% 51,000,000 7.18%
EE3A 83,300,000 9.87% 82,600,000 | 10.42% 700,000 0.85%
SILSESN 57,600,000 6.82% 57,200,000 7.22% 400,000 0.70%
= M EESH 31,200,000 3.70% 30,200,000 3.81% 1,000,000 3.31%
St MBEZ S A 26,400,000 3.13% 27,000,000 3.41% A600,000 | A2.22%
JIEFSE3 A 25,700,000 3.04% 25,400,000 3.20% 300,000 1.18%
F=EINLEEE S 7,000,000 0.83% 7,160,000 0.90% A 160,000 | A2.23%
=2 HII=ELIA 2,800,000 0.33% 2,710,000 0.34% 90,000 3.32%
HASFUFHOEIISE 1,380,000 0.16% 1,380,000 0.17% 0 0.00%
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FUAST AL H2OHH D] 2,870,000 0.34% 2,870,000 0.36% 0 0.00%

=EELE
SsSNAZLEALELSA 240,000 0.03% 240,000 0.03% 0 0.00%
A=A HEE S 1,060,000 0.13% 700,000 0.09% 360,000 51.43%
FHEZMLEALEZ S A 500,000 0.06% 500,000 0.06% 0 0.00%
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9,850,000 1.17% 9,840,000 1.24% 10,000 0.10%




